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x’ : v’cosa’ cosa
C = vy (,- $1 (4.4)
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nmutl  x b-aim =
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z- f pJ’*  = (l+%)T  _;  (l-$)1’*

(,-  ;y*

v = “CJ
( , - $ )“,

,110 = 1

PH 340 105



= [l-  ( 2v
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4.6.3 ~alu~~~b~~J"~v~~~~~~~~~~~~~l~........................................................................................

m¶J : salda~~ailSB~T',S1'Flnla~~abi~HBDU~~

4.6.4 '&&%~Ln'a~L~dm~J . . . . . . . . . . . . . . . . . . . . . . . . . . . . . dou?unii

BlmJ  : LQWII~
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ux = ux-v
(l-2@ = (1:“$)  = u

v
= ( l-y2

1+g
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dr
z = (I- $)“2

mo¶J  : r(t) = 1; (I- !f$))"' dt'

7 Sherwin, C.W., Some Recent Experimental Tests of the “Clock Paradox”, Phys. Rev., 120, 17, 1960.
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Biiaauah  : 8777  (3.32)’

t1 = y t;+VXL(
2

‘1

t2 = y t;+VX’(
C*
‘)

(;1OlJ : At = tz-t,  = y(t; -;)  = yAs
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